C

LED SOLAR STREET LIGHT SET SSL30P50
INSTALLATION MANUAL / UHCTPYKLIAl 3A MOHTAX

TECHNICAL SPECIFICATIONS / TEXHWYECKU LAHHU:

LED SOLAR STREET LIGHT / LED COTTAPHA YNIUYHA TAMNA

Solar panel type / Tun Ha nanena:
Battery / batepua:
Luminous Efficacy / (BeTnuHeH po6us:

LED:

CRI:

Beam angle / bron Ha cBeTeHe:
Lighting Time / Bpeme Ha cBeTeHe:

Total nett weight / 0610 Terno, HeTo:
Working temp. / PaboTHa TemepaTypa:

MOUNTING POLE / CTbJ1b
Pole top diameter / [luameTbp Ha cTbnba
Mounting height / Bucounxa Ha MoHTax

Installation space between poles / MexgycTbnbue

Lamp parameters / llapameTpy Ha namnarta:

High Efficiency Monocrystaline Silicon
LiFePO4 type/230 Wh/18Ah/12.8V

SOLAR PANEL MONOCRYSTALLINE SILICON
MOHOKPUCTANEH OOTOBONTAUYEH NAHEN

Pmpp =50W
190 Im/W Impp=2.77A
30W /5900 Im /4000 K Vmpp =18V
Lumileds SMD5050 Voc=21.6V
>70 Isc=2.99A

Type II-S (140°%85°)
5-7 Rainy days (fully charged)
5-7 IbXA0BHM AHN (NpY MbJIHO 3apefeHa baTepus)

Working temp.: -40° 4-85°C
Maximum system voltage: 1000V
STC: AM = 1.5, 1000 W/m?, 25°C
12,5kg

-20°C~+45°C

®50-62mm
5~15m
10~30m

LIGHTING MODE

Factory pre-set:

At night, T1:100%-2hr, T2:60%-2hr, T3: 10%-7hr, T4: 50%-1hr.

For example, when the led solar panel street light turn-on at 6:00 pm:
T1:100%-2hr from 6:00pm-8:00pm,

T2: 60%-2hr from 8:00pm-10:00pm,

T3:10%-7hr from 10:00pm-5:00am

T4:50%-1hr from 5:00am-6:00am.

Remark: The street lights' turn-on time depends on the clients' local time
(Turn-on Light Level: <20lux).

PEXXMMMW HA CBETEHE

(abpuyHa HacTpoitka:

[pe3 HowTa, T1: 100%-2 vaca, T2: 60%-2 yaca, T3: 10%-7 yaca, T4: 50%-1 vac.
Hanpumep, korato ocBeTnenueTo (namnara) ce Bktoun B 18:00 u.:

T1:100%-2h B 18:00-20:00 y,

T2: 60%-2u. 8 20:00-22:00 y,

T3:10%-7 yaca B 22:00-5:00 u.

T4: 50%-1 yac B 5:00-6:00 y. cyTpuHTA.

3a6enexka: BpemeTo Ha BK/NIOYBaHE Ha YINYHOTO OCBETEHIE 3aBUCK OT HUBOTO Ha
ocgeTeHocT (npn <20lux ).

SOLAR PANEL / CONAPEH NMAHEJ 50W

’— 670 mm —‘

LED SOLAR STREET LIGHT
LED CONTAPHA YNNYHA IAMNA
’ 30w
mm
c | 300
e - - 5
S
i 000p000P00 3
£ 8 L 4
~ 00000000E D :@ =3
Q 00Qp00aD00
000000000 e =
2 —
MPPT stands for “Maximum Power Point 0 ~ - m{m ) MPPT e cbkpatuenue ot “Maximum Power Point Tracking”

Tracking”and is an advanced and efficient
charging method. MPPT technology can detect the
power generated by solar panels in real time and

40

350

track the highest power point of the U-I curve. 0 e Maximum \
Thus the system can charge the battery with the B d power point
highest possible efficiency. Compared with v g I
traditional PWM controllers, MPPT controllerscan 7/
maximize the effectiveness of solar panels and 50 L/
provide greater charging current. Generally . L/
speaking, MPPT can improve energy efficiency by !
15%-20% compared to PWM controllers. *1,’
R4

0 02 04 06 08 1 12

Solar Panel Voltage (V)

Current (pA)

500

400

300

200

100

(MpocnepsaBaHe Ha TOYKaTa Ha MaKCMManHa MOLLHOCT)
11 MPe/iCTaBNABA YCbBBPLUEHCTBAH U eheKTUBEH MeTof 3a
3apexaaHe. TexHonoruata MPPT moxe fa oTunTa eHepruara,
reHepupaHa oT CoNapHITe NaHenu B peaHo Bpeme 1
npocneAABa Haii-BICOKaTa TOUKA Ha KpUBaTa Ha MOLLHOCTTA
U-I. To T031 HaumH cucTemata Moxe Aa 3apexza 6atepuata ¢
Bb3MOXHO Hali-BUCOKA epeKTUBHOCT. B cpaBHeH e ¢
TpaauunoHHuTe PWM KoHTponepu, MPPT koHTponepute morat
[ YBENNYaT MaKCUMANHO eQeKTUBHOCTTA Ha ConapHuTe
MaHenu 1 fa ocurypaT no-ronam ToK Ha 3apexzane. Hail-061wo
ka3aHo, MPPT moxe Aa nogobpy eHepriniiHata edeKTUBHOCT C
15-20 % B cpaBHeHue ¢ PWM KoHTponepue.



||
)

;..
¢
i

o LEDSOLAR STREET LIGHT SET SSL30P50
INSTALLATION MANUAL / UHCTPYKLIAl 3A MOHTAX

C

DESCRIPTION OF CONSTRUCTION
OMWCAHUE HA KOHCTPYKLIUATA

100°

o0¢

PHOTOMETRY / ®OTOMETPUA

-/+180

X—C0/180,141.6
€30/210,130.2
30 _c60/240,91.4

AVERAGE BEAM ANG'E.B(so%) :112‘5;2290/270,55,7
Average Beam Angle
Type II-S (140°%85°)

High efficiency monocrystalline silicone solar panel
MoHoKpucTaneH GOTOBONTaMYEH NaHeN C BIUCOKA eYeKTUBHOCT

LiFePO4 Battery / AkymynatopHa 6atepus LiFeP04

Programmable controller / Factory preset

Mporpamupyem KoHTponep / abpuuHo HaCTpoeH U-bracket for solar panel

MoHTaxHa ckoba 3a CONapHNA naHen

Self clean smooth surface
(amonoyncTBalL ce Kanak
Rotatable Arm
IP66 Waterproof and dustproof MonBinkHo pamo
IP66 CreneH Ha npaxo- 1 BNAroycToiiuMBOCT
Support base
Hocewa ocHoBa
(ooling heatsink
Oxnaxpawy paguatop
IP66 Waterproof connector
High efficiency LEDs IP66 Bnaro3aLLuTeH KOHeKTop

BucokoedekTnBHN cBETOANOAN

Pole adaptor
AnanTep 3a MOHTaX Ha CTbN0

UV resistant PC lens
UV yctoituusu PC newwn




o LED SOLAR STREET LIGHT SET SSL30P50
INSTALLATION MANUAL / UHCTPYKLIA 3A MOHTAX

Turn-off State

Before mounting make sure the self-locking button
on the lamp is on Turn-off state.
Mpenu MoOHTaX ce yBepeTe, ye OYTOHBT Ha Namnata

€ B U3K/I04EHO NONOoKeHNe.
W3knioueHo
nosoxeHune
Pole adaptor
Apantop
LED street light
YnuuHa namna
Bracket for solar panel

(Toiika 3a conapHuA naxen

The set includes LED street lamp, solar panel, bracket and pole adaptor.
KomnnekTot BKntouBa LED ynuuxa namna, conapen naxen, ctoiika
W ajanep 3a cTbnb

2 pcs M8x30mm hexagon socket screws
2 6p. M8x30mm 6onTa

Fix the pole adaptor to the street lamp with two M8x30mm hexagon socket screws
(included in the set). Choose the right angle.

3aKpeneTe afanTepa 3a (Tb6a KbM yNMYHaTa lamna ¢ Aata bonra M8x30 mm,
BK/KOYEHI B KOMNNeKTa. M36epeTe NpaBuniHnA broi.

03

4 pcs M8x 16 hexagon screws
4 6p M8x16 6onTa

2 pcs M8x40 hexagon screws
2 6p M8x40 6onTa

After opening Box 2 with the solar panel (Figure a), use the M8 screws shown in
Figure b to connect the solar panel to the bracket.

Cnep kato otBopuTe KyTna 2 ¢be conaphma naven (Ourypa a), unon3gaitre
6ontoete M8, nokasaHu Ha Ourypa b, 3a 1a MOHTUpaTe NaHena KbM CToiiKaTa.

04

@60 - @63.5mm

Install the lamp on the pole and fix it tightly with two M8x20 mm hex screws.
MoTupaiie namnara Ha cTb6a U A 3akpeneTe 3apaBo ¢ Aata 6onta M8x20 mm.

Install the solar panel on the street lamp pole adaptor and fasten it tightly with two
M8x20mm hexagon screws. Make sure the connector is plugged well and tightened
firmly. Place the panel southward and under direct sunlight. Adjust the angle at =45°.

MoHTupalite naHena Bbpxy afantepa 3a CTbaba Ha yINYHOTO OCBETNEHNE 1 T0
3akpenete 3paBo ¢ ABa 6onta M8x20 mm. YBepeTe ce, ue KOHeKTOPT e fobpe
(Bbp3aH 1 cTerHart. OpueHTupaliTe NaHena B K0XHa N0CoKa 11 N0z NpsAka CTbHYeBa
(BeTNHA. HacTpolite brona Ha =45°.

06

Turn-on State

Self-locking button.
byToH 3a BKNOUBaHe/U3KNKOUBaHE
Ha namnara.

BkntoueHo
nonoxeHue

After finish the mounting press the button on the lamp on Turn-on state.
(Cnep npuKnioYBaHe Ha MOHTaXa BK/loyeTe 6yToHa Ha namnara .




LED SOLAR STREET LIGHT SET SSL30P50

INSTALLATION MANUAL / UHCTPYKLIA 3A MOHTAXK

WHCTPYKLINA 3A MOHTAX

BAXHO: MPOYETETE UHCTPYKLIUMTE NPEAN MOHTAX U NOAMAHA!
1. MOHTaXBT Ha OCBETUTENHOTO TANO A3 Ce U3BBPLIBA CbITIACHO HACTOALLIATA UHCTPYKLYA OT KBANMQULMPaH CeLManiicT.
2. Banukit KaBenw 1 noMOLLHM eneMeHTH TpAGBa Aa GbAAT pa3nonoxeHu Ha MOAXOAALLO Pa3CTOAHME OT HarpABALLMTE Ce YaCTU Ha OCBETUTENHOTO TANO. [pit MOHTAX 0GbPHETe BHUMAHME Ha UUCKBAHIATA 32 MUHUMAIHO

OTCTOAHUE Ha OCBETABAHUTE 00€KTH.

3. TanoTo moxe Ja ce HarpABa no Bpeme Ha pa60Ta, 3aT0Ba npejn noagmAHa 13yaKailTe Jia u3CTuHe.

4. MouncTgaiite CbC cyxa Kbpna.

5. He nokpuBalite ocBeTuTenHoTo TAno. 3a Aa ce 136erHe onacHocTTa ot noxap, ocuryperte B0OOZEH J0CTBN Ha Bb31yX 10 HarpABaLLUTE Ce eNIEMEHTN.

6. Ako 3aXpaHBalLuAT Kaben Ha OCBETUTENIHOTO TANO € YBPEAEH, 3abJIXKUTENHO € T0il ia Gbjie NoAMEHeH oT NPpon3BOAUTENSA, HEroB 0TOPU3MPAH NPeACTaBUTEN NN TEXHNYECKU KBa!'IVId)VILlI/IpaH cneymanncT cuen npefoTepatABaHe

Ha 3710M0NyKN U LWeTn.

7. anLLVI BK/IOYBAHETO Ha TAOTO Ce yBEPETE, Ye MOHTUPAHETO MY € U3BDPLIEHO NPABUIHO U U3KNKOYBA OMACHOCTTA OT ﬂed)EKT npu paﬁoTa, PUCK 3a BbHLLUHATA Cpefia U non3patennTe.
8. BHocutenAT (B0CTaBUMKBT) He HoC OTrOBOPHOCT 3a LUETUTE, Bb3HUKHANN BCNIeCTBME HECNA3BAHETO Ha ropenocoyeHnTe NPenopbKn 3a MOHTAX.

3AMA3BAHE HA YACTOTATA HA OKOJTHATA CPELIA

[TpOAYKTBT 11 HeroBuUTE KOMMOHEHTU He Ca OMacHM 3a OKONHaTa cpefa.

X

I pervioH.

Mons, U3XBbp/IAITE eNleMEHTUTE Ha ONAKOBKATa Pa3fieNiHO B KOHTEiHEpUTe, PeHa3HaY€eHI 32 CbOTBETHUA MaTepHan.
CumBonbT WEEE noka3a, ue 103 NPOAYKT He e 6UTOB 0TNa/ibK 1 NOTPEGUTENAT e AbeH Ja 1o U3XBbPAA (aMo B KOHTEIHEpH 3a pa3aento CbOupake Ha u3na3no ot ynotpe6a EEQ ¢ Len onassae Ha oKonHarta cpepa u
YOBELLKOTO 3ApaBe. 3a PeUyKMPaHETo Ha TO31 NPOAYKT, MONA CBbPIKeTe ce € 06eKTa, OT KOITO e 3aKyneH Wiv CIeABaiiTe MHCTPYKUWMMTE Ha OpraHi3aLiuTe, 3aHUMABALLM Ce C ONO30TBOPABAHE Ha OTNAZbLUTE BbB BaLLMA

@ INSTALLATION MANUAL

NOTE: READ THE INSTRUCTIONS BEFORE MOUNTING!

1. The fixture, when properly assembled, may only be connected to a properly
functioning electrical system with compliance with the applicable standards.

2. All conductors and fitting auxiliary components are to be placed on
ap-pro-priate distance from the heating parts of the fitting. When choosing the
place for mounting, the required minimum distance must be kept between the
fitting and the lightened objects.

3. Prior to replacing, it is necessary to cut off the power supply by main switch.

4. The light fixture heat itself while working, so in case of necessity prior to
undertaking its replacement, wait until cool down.

5. If the external flexible cable or cord of this luminaire is damaged, it shall be
exclusively replaced by the manufacturer or his service agent or a similar qualified
person in order to avoid a hazard.

6. Do not cover the fixture. To avoid any fire hazard, provide unrestricted air flow
to the heated fitting parts.

7. Prior to starting operating, make sure the mounting of the product has been
performed appropriately, eliminating the hazard of defective operation, not
endangering the surrounding and the users.

8. The importer/supplier bears no responsibility for damages resulting from
failure to comply with these instructions.

TAKE CARE OF THE NATURAL ENVIRONMENT CLEANLINESS:

The products and its components are not dang for the
Please dispose all the package elements separately into the appropriate
corresponding material containers.

Please dispose all broken lighting fixtures separately in containers for
E out of usage electrical equipment. Before disposing the WEEE contact
mmmmm environment protection organizations.

nt.

the importer/supplier or refer to the guidelines of your local

MONTAGEANLEITUNG

WICHTIG: BITTE DIE UNTEN ANGEFUHRTEN ANLEITUNGEN VOR MONTAGE -
ODER AUSTAUSCHMABNAHMEN DURCHLESEN!

1. Nur eine sachkundige Person darf die Leuchte entsprechend dieser Anleitung
montieren.

2. Samtliche Kabel und Hilfselemente miissen sich in geeignetem Abstand von
den Heizteilen der Leuchte befinden. Bei Montage bitte die Anforderungen iiber den
Mindestabstand von den zu beleuchtenden Objekten beachten.

3. Da sich der Beleuchtungskdrper wahrend des Betriebs erwarmen kann, bitte
diesen vor dem Austausch abkiihlen lassen.

4. Mit trockenem Tuch reinigen.

5. Die Leuchte nicht bedecken. Zur Vermeidung von Brandgefahr ist fiir freier
Luftzutritt zu dem Heizteilen zu sorgen.

6. Das beschadigte Versorgungskabel der Leuchte soll unbedingt durch den
Hersteller, durch seinen autorisierten Vertreter oder durch eine sachkundige Person
ausgetauscht werden, damit Schaden und Verletzungen vermieden werden.

7. Stellen Sie vor dem Einschalten der Leuchte sicher, dass die Montage
ordnungsgemaB durchgefiihrt ist und dass keine Gefahr aus Betriebsméngeln, eine
Gefahr fiir die duBere Umgebung und eine Gefahr fiir die Benutzer ausgeschlossen
ist.

8. Der Importeur (Lieferant) trdgt die ganze Verantwortung fiir Schaden, die sich
infolge der Nichteinhaltung der obigen Montagehinweise ergeben hatten.

UMWELTGERECHTE ENTSORGUNG

Das Gerdt und dessen Komponente sind nicht schadlich fiir die Umwelt.
E/ Bitte entsorgen Sie das Verpackungsmaterial getrennt in den

entsprechenden Sammelbehéltern
Bitte entsorgen Sie das defekte Gerét getrennt in den Sammelbehaltern
B fijr Elektro- und Elektronikschrott.

@ ISTRUZIONE DI MONTAGGIO

ATTENZIONE: LEGGERE ATTENTAMENTE LE ISTRUZIONI PRIMA DEL
MONTAGGIO E DELLA SOSTITUZIONE PEZZI!

1. Linstallazione del corpo illuminante va esequita in conformita alle istruzioni
presenti e da personale qualificato.

2. Tutti i cavi e gli elementi ausiliari devono essere situati a una distanza adeguata
dagli elementi del corpo illuminante sottoposti al riscaldamento. Linstallazione va
esequita rispettando la distanza minima dei corpi illuminanti.

3. Acceso, il corpo & sottoposto a riscaldamento, quindi va lasciato raffreddare
prima che sia sostituito.

4. Pulire con un panno asciutto.

5. Non coprire il corpo illuminante. Per prevenire un incendio, fare in modo da
garantire il libero accesso dell'aria agli elementi sottoposti a riscaldamento.

6. In caso di guasto del cavo di alimentazione & necessario che esso sia sostituito
dal produttore, da un suo rappresentante autorizzato o da personale tecnico
qualificato per prevenire danni e infortuni.

7. Prima dell'accensione del corpo illuminante, assicurarsi che l'installazione &
fatta correttamente e garantisce il suo uso corretto senza creare situazioni di difetti o
rischio per I'ambiente e per gli utenti.

8. Limportatore (il fornitore) non & responsabile per i danni dovuti alla mancata
osservanza delle istruzioni di montaggio sopramenzionate.

AVER CURA DI MANTENERE PULITO UAMBIENTE NATURALE

Il prodotto ed i suoi componenti non sono dannosi per 'ambiente
Gettare separatamente nei contenitori corrispondenti le varie parti dellimballa-
ggio.
ﬁ Gettare i prodotti rotti e non pill utilizzabili separatamente in contenitori
per componenti elettrici.

INSRUCCIONES
IMPORTANTE: LEA LAS INSTRUCCIONES ANTES DEL MONTAJE!

1. El montaje a de ser realizado,seguendo las instrucciones.

2.Todos cables deben estar montados en distancia adecuada de los elementos de
la luminaria que producen calor.

3. La luminaria funcionando se podria calientar,apdguela y espere antes de
realizar cualquier montaje o desmontaje. .

4. Limpie la luminaria con pafio seco.

5. No cubrir la luminaria.Para evitar incendios asegurese ,que la luminaria tenga
suficientemente cantidad de aire.

6. Antes de encender a luminaria asegurese,que el montaje esta correcto.

7. El fabricante no tiene responsabilidad para averias provocadas de montajes
incorrectos.

MEDIO AMBIENTE:

El producto y sus componentes no son peligrosos para el medio ambiente.
Tiren los envases en los contenedores habilitados.
ﬁ El producto no es residuo domestico.El consumidor esta obligado a
tirarlo en los contenedores habilitados al efecto.
|

INSTRUCTIUNI DE INSTALARE

IMPORTANT: CITITI INSTRUCTIILE INAINTE DE INSTALARE SAU INLOCUIRE!

1. Instalarea corpurilor de iluminat este trebuie efectuatd in conformitate cu
prezentele instructiuni de un profesionist calificat.

2. Toate cablurile si elementele auxiliare se aseaza la o distantd corespunzatoare
de la partile corpurilor de iluminat, ce se incdlzesc. La montarea aveti grija la
cerintele de distanta minima intre obiectele iluminate i corpurile de iluminat.

3. Corpul se poate incalzi in timp ce functioneaza. De aceea inainte de inlocuire,
vd rugdm sd asteptati sa se raceasca.

4. Curatati cu o carpd uscatd.

5. Nu acoperd corpurile de iluminat. Pentru a evita pericolul de incendiu, asigurati
acces liber de aer la elementele ce se incalzesc.

6. In cazul in care cablul de alimentare al corpurilor de iluminat este deteriorat,
acesta trebuie inlocuit de ctre producdtor, reprezentant autorizat sau persoana
calificatd de tehnic pentru a preveni accidente si daune.

7.Inainte de a includerea corpul, asigurati-va i instalarea este efectuat corect si
exclude riscul de defect in timp ce functioneaza sau riscul pentru mediul extern si
utilizatorii.

8. Importatorului (furnizorului) nu este responsabil pentru daunele rezultate din
nerespectarea urmati recomandarile de mai sus pentru instalare.

AVETI GRIJA DE CURATENIA MEDIULUI INCONJURATOR NATURAL

Produsul si componenetle sale nu dduneaza mediului

Va rugam sa depozitati elementele pachetelor separat in containere pentru
materiile respective.
Va rugam sa depozitati produsele defecte separat in containere pentru
echipament electric iesit din uz.

INSTRUCTIONS D'INSTALLATION

IMPORTANT: LISEZ LES INSTRUCTIONS AVANT L'INSTALLATION
OU LE REMPLACEMENT!

1. Linstallation de I'appareil d‘éclairage doit étre faite conformément a la
présente instruction par un spécialiste qualifié.

2. Tous les cables et les éléments auxiliaires doivent étre situés a une distance
appropriée des parties chauffantes de I'appareil d'éclairage. Lors de I'installation,
faites attention aux exigences relatives a la distance minimale des objets éclairés.

3. Le corps peut étre chauffé pendant le fonctionnement, donc avant de le
remplacer le laisser refroidir.

4. Essuyez avec un chiffon sec.

5. Ne couvrez pas l'appareil déclairage. Afin d'éviter les risques dincendie,
assurez un accés libre de 'air aux éléments chauffants.

6. Si le cable d'alimentation de I'appareil d‘éclairage est endommagé, il est
impératif quiil soit remplacé par le fabricant, son mandataire ou techniquement
qualifié pour prévenir des accidents et des dommages.

7. Avant de brancher le corps, assurez-vous son installation est faite correctement
et est en dehors du risque d'un défaut de fonctionnement, un risque de I'environne-
ment externe et les utilisateurs.

8. Limportateur (le fournisseur) n'est pas responsable des dommages résultant
du non-respect des instructions susmentionnées pour l'installation.

INSTRUCTIONS

Le produit et ces composants sont nuisibles pour environnement.

Déposer les composants de I'emballage dans les bacs de tri sélectif.
Déposer les produits usagés dans des bacs de déchets électriques.
|



